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Exercice 1
1. P(X<=1)=2-2/(e^{1})=1,264
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[image: ]2. P(X>=1)=2/e^{1})=0,736






[image: ]3,P(X>5)=2/e^(5)=0,013






4, p(-2<x<5)=2-2/e^(5)=1,986
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Exercice 2
1, EX=1/2

2, EX=10

3 . EX = 5.

Exercice 3

[bookmark: MJXc-Node-265][bookmark: MJXc-Node-266][bookmark: MJXc-Node-267][bookmark: MJXc-Node-268][bookmark: MJXc-Node-269]1.  P(X≤2) = 0,98
[image: ]
[bookmark: MathJax-Element-28-Frame][bookmark: MJXc-Node-270][bookmark: MJXc-Node-271][bookmark: MJXc-Node-272][bookmark: MJXc-Node-273][bookmark: MJXc-Node-274][bookmark: MJXc-Node-275][bookmark: MJXc-Node-276][bookmark: MJXc-Node-277][bookmark: MJXc-Node-278][bookmark: MJXc-Node-279] P(0≤X≤3). = 0,99
[image: ]
2, EX= 1/2

3.  Le temps de  fonctionnement moyen est de 30 minutes
Exercice 4

On sait que P(X<15)=0,8 donc le paramètre vaut 0,107
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approx (int (2*exp(-2x) ,%,0,3))
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solve (int (p*exp (-p*k) , x, 0, 15)=0.8,p)
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